
It is the result of substituting one function into another.  A function is like an input-output machine.  



The domain of f(g is a _____ of the domain of ___.  The ______ of f(g is a _______ of the range of ___.
Given: 
f ={(1,5), (3,9), (4,12)}



g(x) = 2x - 3
Find :

f(g(2))
and
g(f(3))
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Find the domain of :
m(f 
if:
m(x) =   x + 6   &   f(x) = x2 - 5x

m(f (x) = m(f(x))


m(f (x) =    

m(f (x) =     
To find the domain then:
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Domain: {                         , x Є R}
Find:

f(f-1 if:
f(x) = 2x + 3.
Lets find the equation of f-1(x).




f(x) = 2x + 3




y = 2x + 3




x = 2y + 3
interchange x and y

f(f-1 (x) = f(f-1(x))

f( f-1 (x) = 

f(f-1 (x) = 


f(f-1 (x) = 

f(f-1 (x) = 
